Model of Consumer Choice

Budget Line reflects baskets of goods consumer could purchase with a given income 

Suppose consumer purchases two goods:

H  - housing that’s rented per month

F  - food consumption
PF = price per pound of food

PH = price per square foot of housing (to rent)

Total expenditure = PH · H + PF · F

Consumer income is designated I.  If consumer spends all income:

I = PH · H + PF · F

Suppose consumers income is $1000 per month and the prices of food and housing: 

PH = $5/sq. ft.    PF = $2/pound.  What baskets of food and housing can he purchase?

Rearrange terms to get formula for a line:
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plug in values for income and prices:   F=500-2.5H
	Food (pounds)
	Housing (sq. ft)
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· Consumer can purchase any basket along budget line with income
· Each basket costs $1000, the consumers income

· All baskets within the budget line cost less than $1000, baskets outside of budget line costs more than $1000
· Slope of budget line is 
[image: image3.wmf]5

.

2

=

F

H

P

P

 which means for each additional square foot of housing the person purchases in a month, he would have to give up 2.5 pounds of food to stay within budget
· Final basket consumer choose would depend on the person’s preferences

Central cities


House a disproportionate number of the impoverished and the wealthy


Many middle income families have abandoned cities


Primary/secondary public schooling may be responsible


Public school is a subsidy that has “take it or leave it” quality

Public Education
Suppose education is measured in terms of quality; price exists per unit of quality

Assume a family with after-tax income equal to M

Budget line for the consumer is MN
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Each point along line theoretically represents a different school

In reality only limited choices due to proximity

Family choice of education quality a function of preference

Suppose school district offers S1 education


No tuition charged 


Family could maintain other goods consumption at M and consume S1 education
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Budget line for the family is now M’RN

Point M’ represents 

Family sending child to public school with S1 quality for “free”

Maintains other goods consumption at M

Reason for discontinuity in budget line

If family wanted to consume higher quality education, would have to take child out of public school


Family would lose all the present S1 subsidy

Existence of a government good provided for “free” may increase opportunity cost of increasing consumption

· Public housing is an example of “take it or leave it” nature of publicly provided good

· One difference between goods is public housing offered only to the poor

· School subsidy offered to everyone

Suppose M=$4000/month

market value of S1 = $1000/month

market value of S2 = $1200/month

Opportunity cost of increasing education from S1 to S2

If S1 publicly provided:    $1200  other goods consumption would fall from M to M1

If no public education provided  $200  other goods consumption falls from MR to M1

Difference in opportunity cost is the $1000 the family must forgo in public subsidy if move from the public school in S1 to private in S2

Public school education quality vary over geography

If quality of schooling varies across districts

Family could increase school quality and maintain public subsidy by moving to a different district


Central cities may lose middle class people 

Why wouldn’t they lose wealthy people looking for increased school quality?

90% of children go to public school
School Voucher


form of income that can be used only for education


suppose family given voucher worth S1 education

budget choices under voucher
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Voucher is a public subsidy that is portable


Family may still consume S1 education for “free”


But the public subsidy follows family if it chooses school with increased quality

Budget line is now M’N’

Opportunity cost of moving from S1 to S2 now decreased to $200


Family enjoys larger basket goods at S2 with voucher compared to 


Public subsidy without voucher

Voucher is public subsidy that doesn’t increase opportunity cost of increasing consumption of good

Voucher may break link between school choice and housing location choice

May induce middle and higher income residents to stay in city if able to go private schools

Pro voucher:  
1. Increases schooling choices for parents by decreasing marginal cost of attending non-public school
2. Quality of school attended may be higher with vouchers than the local public school

3. Allows families to stay within urban area, while increasing school quality 

Anti voucher:

1. Parents of prepared students may be more likely to use vouchers to attend private school

2. This sorting will leave public schools with greater proportion of less prepared students; increasing social isolation of the public school students

May allow for greater housing integration at the cost of greater schooling segregation

Compare school vouchers to housing vouchers
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